Organic #1
The following illustrates the difference between resonance structures and the resonance hybrid. You might explain that a rhino looks like a combination of a unicorn, a dragon and a centaur. However, neither the unicorn, dragon nor centaur actually exists, but the rhino does.  

Another important idea is that a rhino ALWAYS looks like a rhino, it does not look like a unicorn one minute, and a dragon or centaur next.  In summary: resonance structures (like unicorns, dragons and centaurs) are IMAGINARY.  Only the resonance hybrid (the rhino) is real.
Illustrate this idea using the example: CO32-
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